SAINIK SCHOOL BALACHADI
(2017-18)
SUMMER VACATION HOMEWROK
CLASS : VII

ENGLISH

1. Write 10 pages of cursive writing. (4 line pages : 5x2=10)

2. Make a chart based on degree of comparison on a drawing sheet. Include at least 25
words.
3. Write essay of about 150 words on the following topics:

(a) Value of Discipline in Student Life
(b) Career in Defence Forces

4. Write a letter to your younger brother explaining him about the importance of health
and hygiene (120 words)
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MATHEMATICS

o -
SAINIK SCHOOL BALACHADI
(2013-18)
SUMMER VACATION ASSIGNMENT
CLASS: Vi
SUBJECT:MATHEMATICS

Direction: Complete the statements by writing the word from word box on the spaces provxdcd Each word
may be used once, more than once or not at all.
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Integers contain whole numbersand ____ _numbers

On a number line, when we add a positive integer or subtract a negatve integer, we move to the

We move to the . on a number line if we add a negative integer or subtract a
positive integer.

4. If we add two negative integers, we obtain a - __ integer.

5 If we add two positive integers, we obtaina - _integer.

6. The additive identity for integersis

7. o is the multiplicative identity for integers,

8. Product of a negative and a positive integer is always e

9. Iftheinteger -1 is multiplied .. number of times, the product is (1),
10. The product of any integer with zerois N -
I1. The sum of an integer and its additive inverse is always

—————— - ——— — e = ST PSR -

@ Tick () the correct answer for each of the following:

When we add a positive integer and a negative integer, the result

(a) 1s always positive (b) is always negative

(¢) is zero (d) can be positive or negative

The next term of the pattern -—§. -3,2,7, .05 ' -
(a) 11 (b) 12 ()13 {d) 14

Integers are not closed under

{a) addition {(b) subtraction (¢) multplication (d) division

Which of the following pairs of integers does not have -5 as their sum?
(a) = 4: 1 (b) -2o -3 (‘) "'7- 2 (d) ‘8. 3

Which of the following pairs of integers have 8 as their difference, when first integer is subtracted
from the second?

(@) -6, 14 (%) 8,0 / {c)-4,4 ()3, ~11
The smallest nositive inteaar i



Matchithe Coluimns. e

1. Mawch the expressions in columnJd with theiyr values in column 11
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state wue (T) or false (F) for each of the following statements:

| Every mteger is a whole number
! 7 15 smaller than —8
3 Addittve inverse of <10 is 10
. ] hen 1 negauve integed 1] Inve 1n | La 1 1 I
5. b il in RCI i
6 I we move 5 Steps o the left of 3, we will reach the number 8
7. 01 1 POsItive inte 1
B 15 the grea 1egat mteg
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[P. Whole numbers and integers are closed under addition as we Il as subtraction
tl. Commurative property of addition states that (@ + &) + ¢ 2+ (6 +4 for integers a, b and
|2 Product of tw negatve integers 15 also negative
I3 1f we multiply (<1), 2 m umes, where m is a natural number. we got

4. Division 15 commutative for integers
15, Foranyintegera, 1+a = 1

|6 8 the additive myverve of
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. Write a pair of integers whose
f) sum s an integer smailer than both the integers
(1) sum s an imeger smaller than only one of the integers
) S IS Zero

) difference is an integer greater than both the imntegers

‘ re _Or v Qo 7
2. Find (-25) (=32) using distributive property

Suppase tl '
3. Ippose the distance above the ground is represented by a positive integer, then that bels

vun ill be represented by ne gauve number. If an elevator descends into a mine shaft at the
o1 O metre per mmute; what will be its positon after half an hous

% A shopkeeper carns a profit of T10 by se lling one

geometry bhox I 175 < R
lunch box which are defective e ox and incurs a loss of T 5 whil
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SCIENCE

Q.1 Distinguish between parasite and saprotroph.

Q.2 Explain the photosynthesis process for making the food in green plants.

Q.3 Draw the sketch that plants are the ultimate source of the food.

Q.4 Name the types of carbohydrates that can be digested by ruminants but not in humans.

Give the reason also
Q.5 Write the similarity and difference between the nutrition in human and amoeba

SOCIAL SCIENCE

DO ANY 2 OF THESE

1. Aware the friends, relatives, neighbors etc about conservation of Trees , wildlife etc .

2. Visit to any place and write about its climate, Flora & Fauna, history, art & culture etc.
OR

3. Draw and write about the ideal environment you like . (Lesson -1 Geog. Q5)

4. Collect specimen of the Minerals found in your district and prepare a report about it.



